В	ID T	ABULATION				
		treet 24" Water Main				
		eynoldsburg				
		eived: February 28, 2007				
Ref. No.	Item No.	Description	Quantity	Unit	Engineer'	s Estimate
					Price	Extension
1	801	24" Ductile Iron Water Pipe and Fittings, Class 54 With Poly-Wrap	9,518	L.F.	\$94.00	\$894,692.00
2	801	16" Ductile Iron Water Pipe and Fittings, Class 54 With Poly-Wrap	16	L.F.	\$75.00	\$1,200.00
3	801	Concrete Blocking Class C, Increase or Decrease	50	C.Y.	\$125.00	\$6,250.00
4	801	Fittings, Increase or Decrease	1,500	LBS.	\$2.00	\$3,000.00
5	802	24" Butterfly Valve and Appurtenances	7	EA.	\$5,000.00	\$35,000.00
6	806	42" Casing Pipe, Jack & Bored	295	L.F.	\$600.00	\$177,000.00
7	808	Cut and Plug (Cap) 6" Waterline	10	EA.	\$700.00	\$7,000.00
8	811	Increase or Decrease in Excavation and Backfill	300	C.Y.	\$25.00	\$7,500.00
9	812	1-1/2" Air Release Outlet	4	EA.	\$500.00	\$2,000.00
10	201	Clearing & Grubbing	1	L.S.	\$2,000.00	\$2,000.00
11	252	Permanent Pavement Replacement, Type I	144	S.Y.	\$75.00	\$10,800.00
12	252	Permanent Pavement Replacement, Type IIIA	528	S.Y.	\$20.00	\$10,560.00
13	252	Permanent Pavement Replacement, Type V	81	S.Y.	\$75.00	\$6,075.00
14	253	Temporary Pavement	167	S.Y.	\$25.00	\$4,175.00
15	452	Plain Portland Cement Concrete Pavement, 6" (Driveway)	80	S.Y.	\$75.00	\$6,000.00
16	608	Sidewalk Replacement	62	S.F.	\$7.00	\$434.00
17	608	Curb Ramp w/Detectable Warnings	1	EA.	\$2,500.00	\$2,500.00
18	610	Concrete Median Replacement	6	S.Y.	\$100.00	\$600.00
19	617	Compacted Aggregate, Type A - Shoulder Reconditioning	250	C.Y.	\$30.00	\$7,500.00
20	644	Edge Line	100	L.F.	\$5.00	\$500.00
21	Spec.	Mailbox Removal and Reset	5	EA.	\$250.00	\$1,250.00
22	207	Filter Fabric Fence	8,897	L.F.	\$1.50	\$13,345.50
23	207	Straw Bale Barrier	39	EA.	\$70.00	\$2,730.00
24	653	Topsoil Furnished and Placed	806	C.Y.	\$30.00	\$24,180.00

Ref. No.	Item No.	Description	Quantity	Unit	Engineer's	s Estimate
					Price	Extension
25	659	Seeding and Mulching	9,672	S.Y.	\$1.00	\$9,672.00
26	660	Sodding	430	S.Y.	\$5.00	\$2,150.00
27	667	Seeding and Jute Matting	360	S.Y.	\$3.00	\$1,080.00
28	625	Ground Rod, As Per Plan	1	EA.	\$125.00	\$125.00
29	625	Conduit, 2", 725.05, As Per Plan	1,235	L.F.	\$4.00	\$4,940.00
30	625	Trench	1,235	L.F.	\$4.50	\$5,557.50
31	630	Removal of Ground Mounted Sign and Re-Erection	2	EA.	\$250.00	\$500.00
32	630	Removal of Span Mounted Sign and Re-Erection	8	EA.	\$100.00	\$800.00
33	630	Removal of Overhead Sign Support and delivered to COC	1	EA.	\$500.00	\$500.00
34	630	Removal of Overhead Sign Support and Re-Erection	2	EA.	\$750.00	\$1,500.00
35	630	Span Wire Sign Support Foundation	2	EA.	\$2,000.00	\$4,000.00
36	630	Detector Loop, As Per Plan	16	EA.	\$900.00	\$14,400.00
37	632	Messenger Wire, 7 Strand, 3/8" Diameter with Accessories	195	L.F.	\$10.50	\$2,047.50
38	632	Loop Detector Lead-In Cable, IMSA 50-2	3,433	L.F.	\$1.50	\$5,149.50
39	632	Pull Box, As Per Plan	9	EA.	\$700.00	\$6,300.00
40	632	Remove and Reuse of Pull Box	9	EA.	\$200.00	\$1,800.00
41	632	Microwave Unit, As Per Plan	4	EA.	\$1,000.00	\$4,000.00
42	614	Maintaining Traffic, As Per Plan	1	L.S.	\$25,000.00	\$25,000.00
43	614	Law Enforcement Officer with Patrol Car, As Per Plan	20	HRS.	\$75.00	\$1,500.00
44	614	Work Zone Impact Attenuator for 24" Wide Hazards, Bi-directional, As Per Plan	4	EA.	\$5,000.00	\$20,000.00
45	614	Work Zone Pavement Markings	0.03	MILE	\$5,000.00	\$150.00
46	622	Portable Concrete Barrier, 32"	1,300	L.F.	\$25.00	\$32,500.00
			BIDDER'S	S TOTAL =		\$1,369,963.00
		CORRECTEI			\$1,369,963.00	
			MOUNT O			
		* Denotes Correction in Bidder's Proposal				

Ref. No.	Item No.	Description	Quantity	Unit	Engineer's Estimate		
					Price	Extension	
		Shane J. Spencer, P.E.					
		Evans, Mechwart, Hambleton & Tilton, Inc.					
		5500 New Albany Road					
		Columbus, OH 43054					

В	ID T	ABULATION				
Br	oad St	reet 24" Water Main				
Cit	ty of Re	eynoldsburg				
		eived: February 28, 2007				
		·			TANC	. T
					TAM Const	
Ref.	Item	Description	Quantity	Unit		Grove Road
No.	No.	2 1 5011 p 11011	Quantity	01110	Lancaster, (Ohio 43130
					Price	Extension
1	801	24" Ductile Iron Water Pipe and Fittings, Class 54 With Poly-Wrap	9,518	L.F.	\$100.96	\$960,937.28
2	801	16" Ductile Iron Water Pipe and Fittings, Class 54 With Poly-Wrap	16	L.F.	\$202.45	\$3,239.20
3	801	Concrete Blocking Class C, Increase or Decrease	50	C.Y.	\$155.25	\$7,762.50
4	801	Fittings, Increase or Decrease	1,500	LBS.	\$4.38	\$6,570.00
5	802	24" Butterfly Valve and Appurtenances	7	EA.	\$6,467.60	\$45,273.20
6	806	42" Casing Pipe, Jack & Bored	295	L.F.	\$472.80	\$139,476.00
7	808	Cut and Plug (Cap) 6" Waterline	10	EA.	\$545.10	\$5,451.00
8	811	Increase or Decrease in Excavation and Backfill	300	C.Y.	\$44.68	\$13,404.00
9	812	1-1/2" Air Release Outlet	4	EA.	\$1,224.83	\$4,899.32
10	201	Clearing & Grubbing	1	L.S.	\$0.00	\$500.00
11	252	Permanent Pavement Replacement, Type I	144	S.Y.	\$90.00	\$12,960.00
12	252	Permanent Pavement Replacement, Type IIIA	528	S.Y.	\$30.00	\$15,840.00
13	252	Permanent Pavement Replacement, Type V	81	S.Y.	\$293.25	\$23,753.25
14	253	Temporary Pavement	167	S.Y.	\$20.10	\$3,356.70
15	452	Plain Portland Cement Concrete Pavement, 6" (Driveway)	80	S.Y.	\$268.63	\$21,490.40
16	608	Sidewalk Replacement	62	S.F.	\$18.00	\$1,116.00
17	608	Curb Ramp w/Detectable Warnings	1	EA.	\$690.00	\$690.00
18	610	Concrete Median Replacement	6	S.Y.	\$557.75	\$3,346.50
19	617	Compacted Aggregate, Type A - Shoulder Reconditioning	250	C.Y.	\$55.78	\$13,945.00
20	644	Edge Line	100	L.F.	\$7.20	\$720.00
21	Spec.	Mailbox Removal and Reset	5	EA.	\$144.00	\$720.00
22	207	Filter Fabric Fence	8,897	L.F.	\$1.21	\$10,765.37
23	207	Straw Bale Barrier	39	EA.	\$41.40	\$1,614.60
24	653	Topsoil Furnished and Placed	806	C.Y.	\$8.12	\$6,544.72

					TAM Constr	ruction, Inc.
Ref.	Item				1480 Sugar (Grove Road
No.	No.	Description	Quantity	Unit	Lancaster, C	Ohio 43130
					Price	Extension
25	659	Seeding and Mulching	9,672	S.Y.	\$0.69	\$6,673.68
26	660	Sodding	430	S.Y.	\$10.93	\$4,699.90
27	667	Seeding and Jute Matting	360	S.Y.	\$2.24	\$806.40
28	625	Ground Rod, As Per Plan	1	EA.	\$172.50	\$172.50
29	625	Conduit, 2", 725.05, As Per Plan	1,235	L.F.	\$4.60	\$5,681.00
30	625	Trench	1,235	L.F.	\$5.75	\$7,101.25
31	630	Removal of Ground Mounted Sign and Re-Erection	2	EA.	\$172.50	\$345.00
32	630	Removal of Span Mounted Sign and Re-Erection	8	EA.	\$172.50	\$1,380.00
33	630	Removal of Overhead Sign Support and delivered to COC	1	EA.	\$690.00	\$690.00
34	630	Removal of Overhead Sign Support and Re-Erection	2	EA.	\$1,150.00	\$2,300.00
35	630	Span Wire Sign Support Foundation	2	EA.	\$2,530.00	\$5,060.00
36	630	Detector Loop, As Per Plan	16	EA.	\$1,265.00	\$20,240.00
37	632	Messenger Wire, 7 Strand, 3/8" Diameter with Accessories	195	L.F.	\$13.80	\$2,691.00
38	632	Loop Detector Lead-In Cable, IMSA 50-2	3,433	L.F.	\$1.15	\$3,947.95
39	632	Pull Box, As Per Plan	9	EA.	\$517.50	\$4,657.50
40	632	Remove and Reuse of Pull Box	9	EA.	\$402.50	\$3,622.50
41	632	Microwave Unit, As Per Plan	4	EA.	\$2,070.00	\$8,280.00
42	614	Maintaining Traffic, As Per Plan	1	L.S.	\$57,400.00	\$57,400.00
43	614	Law Enforcement Officer with Patrol Car, As Per Plan	20	HRS.	\$69.00	\$1,380.00
44	614	Work Zone Impact Attenuator for 24" Wide Hazards, Bi-directional, As Per Plan	4	EA.	\$2,640.00	\$10,560.00
45	614	Work Zone Pavement Markings	0.03	MILE	\$32,028.00	\$960.84
46	622	Portable Concrete Barrier, 32"	1,300	L.F.	\$20.16	\$26,208.00
			BIDDER'S	TOTAL =		\$1,479,232.56
		CORRECTEI		\$1,479,232.56		
			MOUNT O			100.00%
		* Denotes Correction in Bidder's Proposal				

Ref.	Item No.	Description	Quantity	Unit	TAM Construction, Inc. 1480 Sugar Grove Road Lancaster, Ohio 43130	
					Price	Extension
		Shane J. Spencer, P.E.				
		Evans, Mechwart, Hambleton & Tilton, Inc.				
		5500 New Albany Road				
		Columbus, OH 43054				

В	ID T	ABULATION				
Bı	oad St	treet 24" Water Main				
Ci	ty of Re	eynoldsburg				
Bi	ds Rece	eived: February 28, 2007				
					Tata Excav	yating Inc
.					1797 Willi	
Ref. No.	Item No.	Description	Quantity	Unit	Columbus,	
NO.	NO.				Columbus,	OIIIO 43003
					Price	Extension
1	801	24" Ductile Iron Water Pipe and Fittings, Class 54 With Poly-Wrap	9,518	L.F.	\$124.64	\$1,186,323.52
2	801	16" Ductile Iron Water Pipe and Fittings, Class 54 With Poly-Wrap	16	L.F.	\$181.36	\$2,901.76
3	801	Concrete Blocking Class C, Increase or Decrease	50	C.Y.	\$105.00	\$5,250.00
4	801	Fittings, Increase or Decrease	1,500	LBS.	\$3.35	\$5,025.00
5	802	24" Butterfly Valve and Appurtenances	7	EA.	\$4,619.00	\$32,333.00
6	806	42" Casing Pipe, Jack & Bored	295	L.F.	\$425.00	\$125,375.00
7	808	Cut and Plug (Cap) 6" Waterline	10	EA.	\$550.00	\$5,500.00
8	811	Increase or Decrease in Excavation and Backfill	300	C.Y.	\$3.50	\$1,050.00
9	812	1-1/2" Air Release Outlet	4	EA.	\$665.00	\$2,660.00
10	201	Clearing & Grubbing	1	L.S.	\$5,500.00	\$5,500.00
11	252	Permanent Pavement Replacement, Type I	144	S.Y.	\$85.00	\$12,240.00
12	252	Permanent Pavement Replacement, Type IIIA	528	S.Y.	\$35.00	\$18,480.00
13	252	Permanent Pavement Replacement, Type V	81	S.Y.	\$65.00	\$5,265.00
14	253	Temporary Pavement	167	S.Y.	\$22.50	\$3,757.50
15	452	Plain Portland Cement Concrete Pavement, 6" (Driveway)	80	S.Y.	\$45.50	\$3,640.00
16	608	Sidewalk Replacement	62	S.F.	\$6.75	\$418.50
17	608	Curb Ramp w/Detectable Warnings	1	EA.	\$1,750.00	\$1,750.00
18	610	Concrete Median Replacement	6	S.Y.	\$125.00	\$750.00
19	617	Compacted Aggregate, Type A - Shoulder Reconditioning	250	C.Y.	\$45.00	\$11,250.00
20	644	Edge Line	100	L.F.	\$6.95	\$695.00
21	Spec.	Mailbox Removal and Reset	5	EA.	\$175.00	\$875.00
22	207	Filter Fabric Fence	8,897	L.F.	\$3.95	\$35,143.15
23	207	Straw Bale Barrier	39	EA.	\$38.00	\$1,482.00
24	653	Topsoil Furnished and Placed	806	C.Y.	\$25.00	\$20,150.00

					Tata Excav	vating, Inc.	
Ref.	Item				1797 Williams Road		
No.	No.	Description	Quantity	Unit	Columbus,	Ohio 43085	
				•	.		
					Price	Extension	
25	659	Seeding and Mulching	9,672	S.Y.	\$1.15	\$11,122.80	
26	660	Sodding	430	S.Y.	\$4.75	\$2,042.50	
27	667	Seeding and Jute Matting	360	S.Y.	\$3.95	\$1,422.00	
28	625	Ground Rod, As Per Plan	1	EA.	\$165.00	\$165.00	
29	625	Conduit, 2", 725.05, As Per Plan	1,235	L.F.	\$4.45	\$5,495.75	
30	625	Trench	1,235	L.F.	\$5.50	\$6,792.50	
31	630	Removal of Ground Mounted Sign and Re-Erection	2	EA.	\$165.00	\$330.00	
32	630	Removal of Span Mounted Sign and Re-Erection	8	EA.	\$165.00	\$1,320.00	
33	630	Removal of Overhead Sign Support and delivered to COC	1	EA.	\$660.00	\$660.00	
34	630	Removal of Overhead Sign Support and Re-Erection	2	EA.	\$1,100.00	\$2,200.00	
35	630	Span Wire Sign Support Foundation	2	EA.	\$2,420.00	\$4,840.00	
36	630	Detector Loop, As Per Plan	16	EA.	\$1,210.00	\$19,360.00	
37	632	Messenger Wire, 7 Strand, 3/8" Diameter with Accessories	195	L.F.	\$13.20	\$2,574.00	
38	632	Loop Detector Lead-In Cable, IMSA 50-2	3,433	L.F.	\$1.10	\$3,776.30	
39	632	Pull Box, As Per Plan	9	EA.	\$495.00	\$4,455.00	
40	632	Remove and Reuse of Pull Box	9	EA.	\$385.00	\$3,465.00	
41	632	Microwave Unit, As Per Plan	4	EA.	\$1,980.00	\$7,920.00	
42	614	Maintaining Traffic, As Per Plan	1	L.S.	\$25,000.00	\$25,000.00	
43	614	Law Enforcement Officer with Patrol Car, As Per Plan	20	HRS.	\$51.75	\$1,035.00	
44	614	Work Zone Impact Attenuator for 24" Wide Hazards, Bi-directional, As Per Plan	4	EA.	\$1,850.00	\$7,400.00	
45	614	Work Zone Pavement Markings	0.03	MILE	\$27,690.00	\$830.70	
46	622	Portable Concrete Barrier, 32"	1,300	L.F.	\$28.50	\$37,050.00	
			BIDDER'S	S TOTAL =		\$1,637,070.98	
		CORRECTEL	S TOTAL =		\$1,637,070.98		
			MOUNT O			\$1,637,070.98	
		* Denotes Correction in Bidder's Proposal					

Ref.	Item No.	Description	Quantity	Unit	Tata Excavating, Inc. 1797 Williams Road Columbus, Ohio 43085		
					Price	Extension	
		Shane J. Spencer, P.E.					
		Evans, Mechwart, Hambleton & Tilton, Inc.					
		5500 New Albany Road					
		Columbus, OH 43054					

В	ID T	ABULATION					
Br	oad St	reet 24" Water Main					
		eynoldsburg					
	•	eived: February 28, 2007					
		•			F: 11 F		
					Fields Exca	Hutc	
Ref.	Item	Description	Quantity	Unit	177 Townsh	2699	
No.	No.	Beschpiton	Quantity	Cint	Kitts Hill, 0		
					Price	Extension	Pr
1	801	24" Ductile Iron Water Pipe and Fittings, Class 54 With Poly-Wrap	9,518	L.F.	\$108.31	\$1,030,894.58	
2	801	16" Ductile Iron Water Pipe and Fittings, Class 54 With Poly-Wrap	16	L.F.	\$135.52	\$2,168.32	
3	801	Concrete Blocking Class C, Increase or Decrease	50	C.Y.	\$98.77	\$4,938.50	
4	801	Fittings, Increase or Decrease	1,500	LBS.	\$3.81	\$5,715.00	İ
5	802	24" Butterfly Valve and Appurtenances	7	EA.	\$5,877.41	\$41,141.87	
6	806	42" Casing Pipe, Jack & Bored	295	L.F.	\$426.02	\$125,675.90	
7	808	Cut and Plug (Cap) 6" Waterline	10	EA.	\$505.75	\$5,057.50	
8	811	Increase or Decrease in Excavation and Backfill	300	C.Y.	\$26.18	\$7,854.00	
9	812	1-1/2" Air Release Outlet	4	EA.	\$1,316.14	\$5,264.56	
10	201	Clearing & Grubbing	1	L.S.	\$2,975.00	\$2,975.00	İ
11	252	Permanent Pavement Replacement, Type I	144	S.Y.	\$90.91	\$13,091.04	İ
12	252	Permanent Pavement Replacement, Type IIIA	528	S.Y.	\$49.29	\$26,025.12	İ
13	252	Permanent Pavement Replacement, Type V	81	S.Y.	\$95.20	\$7,711.20	İ
14	253	Temporary Pavement	167	S.Y.	\$22.31	\$3,725.77	
15	452	Plain Portland Cement Concrete Pavement, 6" (Driveway)	80	S.Y.	\$49.32	\$3,945.60	İ
16	608	Sidewalk Replacement	62	S.F.	\$17.85	\$1,106.70	İ
17	608	Curb Ramp w/Detectable Warnings	1	EA.	\$3,689.00	\$3,689.00	İ
18	610	Concrete Median Replacement	6	S.Y.	\$357.00	\$2,142.00	İ
19	617	Compacted Aggregate, Type A - Shoulder Reconditioning	250	C.Y.	\$40.46	\$10,115.00	İ
20	644	Edge Line	100	L.F.	\$15.47	\$1,547.00	
21	Spec.	Mailbox Removal and Reset	5	EA.	\$47.60	\$238.00	
22	207	Filter Fabric Fence	8,897	L.F.	\$1.25	\$11,121.25	
23	207	Straw Bale Barrier	39	EA.	\$42.84	\$1,670.76	
24	653	Topsoil Furnished and Placed	806	C.Y.	\$34.51	\$27,815.06	

					Fields Excava	ating, Inc.	Hutc
Ref.	Item				177 Township	Road 191	2699
No.	No.	Description	Quantity	Unit	Kitts Hill, Oh	nio 45645	
					D :		
					Price	Extension	Pr
25	659	Seeding and Mulching	9,672	S.Y.	\$1.01	\$9,768.72	
26	660	Sodding	430	S.Y.	\$11.31	\$4,863.30	
27	667	Seeding and Jute Matting	360	S.Y.	\$2.32	\$835.20	
28	625	Ground Rod, As Per Plan	1	EA.	\$178.50	\$178.50	
29	625	Conduit, 2", 725.05, As Per Plan	1,235	L.F.	\$4.76	\$5,878.60	
30	625	Trench	1,235	L.F.	\$5.95	\$7,348.25	
31	630	Removal of Ground Mounted Sign and Re-Erection	2	EA.	\$178.50	\$357.00	
32	630	Removal of Span Mounted Sign and Re-Erection	8	EA.	\$178.50	\$1,428.00	
33	630	Removal of Overhead Sign Support and delivered to COC	1	EA.	\$714.00	\$714.00	
34	630	Removal of Overhead Sign Support and Re-Erection	2	EA.	\$1,190.00	\$2,380.00	
35	630	Span Wire Sign Support Foundation	2	EA.	\$2,618.00	\$5,236.00	
36	630	Detector Loop, As Per Plan	16	EA.	\$1,309.00	\$20,944.00	
37	632	Messenger Wire, 7 Strand, 3/8" Diameter with Accessories	195	L.F.	\$14.28	\$2,784.60	
38	632	Loop Detector Lead-In Cable, IMSA 50-2	3,433	L.F.	\$1.19	\$4,085.27	
39	632	Pull Box, As Per Plan	9	EA.	\$535.50	\$4,819.50	
40	632	Remove and Reuse of Pull Box	9	EA.	\$416.50	\$3,748.50	
41	632	Microwave Unit, As Per Plan	4	EA.	\$2,142.00	\$8,568.00	
42	614	Maintaining Traffic, As Per Plan	1	L.S.	\$34,004.25	\$34,004.25	
43	614	Law Enforcement Officer with Patrol Car, As Per Plan	20	HRS.	\$122.57	\$2,451.40	
44	614	Work Zone Impact Attenuator for 24" Wide Hazards, Bi-directional, As Per Plan	4	EA.	\$2,380.00	\$9,520.00	
45	614	Work Zone Pavement Markings	0.03	MILE	\$31,761.10	\$952.83	
46	622	Portable Concrete Barrier, 32"	1,300	L.F.	\$11.90	\$15,470.00	
			BIDDER'S	TOTAL =		\$1,491,964.65	_
		CORRECTEI	BIDDER'S	TOTAL =		\$1,491,964.65	
		A	MOUNT O	F BOND =		100.00%	
		* Denotes Correction in Bidder's Proposal					

Ref.	Item No.	Description	Quantity	Unit	Fields Excavating, Inc. 177 Township Road 191 Kitts Hill, Ohio 45645		Hutc 2699
					Price	Extension	Pr
		Shane J. Spencer, P.E.					
		Evans, Mechwart, Hambleton & Tilton, Inc. 5500 New Albany Road Columbus, OH 43054					

В	ID T	ABULATION						
Br	oad St	reet 24" Water Main						
Cit	ty of Re	eynoldsburg						
	•	eived: February 28, 2007						
		·					T. C.	
						struction Co, Inc.	Truco Constru	
Ref.	Item	Description Quantity Ur	Quantity	Unit		Alexandria Road	3046 Ho	
No.	No.				Alexandria,	Ohio 43001	Powell, O	
				ice	Extension	Price		
1	801	24" Ductile Iron Water Pipe and Fittings, Class 54 With Poly-Wrap	9,518	L.F.	\$123.00	\$1,170,714.00	\$115.00	
2	801	16" Ductile Iron Water Pipe and Fittings, Class 54 With Poly-Wrap	16	L.F.	\$200.00	\$3,200.00	\$70.00	
3	801	Concrete Blocking Class C, Increase or Decrease	50	C.Y.	\$65.00	\$3,250.00	\$100.00	
4	801	Fittings, Increase or Decrease	1,500	LBS.	\$3.50	\$5,250.00	\$5.00	
5	802	24" Butterfly Valve and Appurtenances	7	EA.	\$4,500.00	\$31,500.00	\$6,200.00	
6	806	42" Casing Pipe, Jack & Bored	295	L.F.	\$500.00	\$147,500.00	\$380.00	
7	808	Cut and Plug (Cap) 6" Waterline	10	EA.	\$450.00	\$4,500.00	\$650.00	
8	811	Increase or Decrease in Excavation and Backfill	300	C.Y.	\$15.00	\$4,500.00	\$40.00	
9	812	1-1/2" Air Release Outlet	4	EA.	\$650.00	\$2,600.00	\$800.00	
10	201	Clearing & Grubbing	1	L.S.	\$5,000.00	\$5,000.00	\$3,000.00	
11	252	Permanent Pavement Replacement, Type I	144	S.Y.	\$75.00	\$10,800.00	\$50.00	
12	252	Permanent Pavement Replacement, Type IIIA	528	S.Y.	\$25.00	\$13,200.00	\$50.00	
13	252	Permanent Pavement Replacement, Type V	81	S.Y.	\$67.00	\$5,427.00	\$50.00	
14	253	Temporary Pavement	167	S.Y.	\$17.00	\$2,839.00	\$30.00	
15	452	Plain Portland Cement Concrete Pavement, 6" (Driveway)	80	S.Y.	\$50.00	\$4,000.00	\$50.00	
16	608	Sidewalk Replacement	62	S.F.	\$20.00	\$1,240.00	\$15.00	
17	608	Curb Ramp w/Detectable Warnings	1	EA.	\$1,200.00	\$1,200.00	\$1,800.00	
18	610	Concrete Median Replacement	6	S.Y.	\$100.00	\$600.00	\$135.00	
19	617	Compacted Aggregate, Type A - Shoulder Reconditioning	250	C.Y.	\$46.00	\$11,500.00	\$40.00	
20	644	Edge Line	100	L.F.	\$10.00	\$1,000.00	\$2.00	
21	Spec.	Mailbox Removal and Reset	5	EA.	\$150.00	\$750.00	\$180.00	
22	207	Filter Fabric Fence	8,897	L.F.	\$2.00	\$17,794.00	\$1.50	
23	207	Straw Bale Barrier	39	EA.	\$60.00	\$2,340.00	\$35.00	
24	653	Topsoil Furnished and Placed	806	C.Y.	\$30.00	\$24,180.00	\$20.00	

	Item No.	Description	Quantity		hinson Cons	struction Co, Inc.	Truco Constru
Ref. No.				Hnit	Johnstown-	Alexandria Road	3046 Ho
					Alexandria,	Ohio 43001	Powell, O
					ice	Extension	Price
25	659	Seeding and Mulching	9,672	S.Y.	\$0.60	\$5,803.20	\$1.00
26	660	Sodding	430	S.Y.	\$9.50	\$4,085.00	\$5.00
27	667	Seeding and Jute Matting	360	S.Y.	\$2.00	\$720.00	\$2.50
28	625	Ground Rod, As Per Plan	1	EA.	\$150.00	\$150.00	\$175.00
29	625	Conduit, 2", 725.05, As Per Plan	1,235	L.F.	\$4.00	\$4,940.00	\$5.00
30	625	Trench	1,235	L.F.	\$5.00	\$6,175.00	\$5.28
31	630	Removal of Ground Mounted Sign and Re-Erection	2	EA.	\$150.00	\$300.00	\$180.00
32	630	Removal of Span Mounted Sign and Re-Erection	8	EA.	\$150.00	\$1,200.00	\$180.00
33	630	Removal of Overhead Sign Support and delivered to COC	1	EA.	\$600.00	\$600.00	\$700.00
34	630	Removal of Overhead Sign Support and Re-Erection	2	EA.	\$1,000.00	\$2,000.00	\$1,000.00
35	630	Span Wire Sign Support Foundation	2	EA.	\$2,200.00	\$4,400.00	\$2,500.00
36	630	Detector Loop, As Per Plan	16	EA.	\$1,100.00	\$17,600.00	\$1,200.00
37	632	Messenger Wire, 7 Strand, 3/8" Diameter with Accessories	195	L.F.	\$12.00	\$2,340.00	\$15.00
38	632	Loop Detector Lead-In Cable, IMSA 50-2	3,433	L.F.	\$1.00	\$3,433.00	\$1.00
39	632	Pull Box, As Per Plan	9	EA.	\$450.00	\$4,050.00	\$500.00
40	632	Remove and Reuse of Pull Box	9	EA.	\$350.00	\$3,150.00	\$400.00
41	632	Microwave Unit, As Per Plan	4	EA.	\$1,800.00	\$7,200.00	\$2,000.00
42	614	Maintaining Traffic, As Per Plan	1	L.S.	\$25,000.00	\$25,000.00	\$11,000.00
43	614	Law Enforcement Officer with Patrol Car, As Per Plan	20	HRS.	\$55.00	\$1,100.00	\$55.00
44	614	Work Zone Impact Attenuator for 24" Wide Hazards, Bi-directional, As Per Plan	4	EA.	\$3,000.00	\$12,000.00	\$1,100.00
45	614	Work Zone Pavement Markings	0.03	MILE	\$26,690.00	\$800.70	\$2,500.00
46	622	Portable Concrete Barrier, 32"	1,300	L.F.	\$37.00	\$48,100.00	\$10.00
			BIDDER'S TOTAL = D BIDDER'S TOTAL =		=	\$1,630,031.00	
		CORRECTEI			:	\$1,630,030.90 *	
		A	MOUNT O	F BOND =		100.00%	
		* Denotes Correction in Bidder's Proposal					

Ref. No.	Item No.	Description	Quantity	Unit	ninson Con	struction Co, Inc.	Tr	uco Constru
					Johnstown-	-Alexandria Road	3046 Но	
					Alexandria, Ohio 43001		Powell, O	
					ice	Extension	Pr	ice
		Shane J. Spencer, P.E.						
		Evans, Mechwart, Hambleton & Tilton, Inc.						
		5500 New Albany Road						
		Columbus, OH 43054						

В	ID T	CABULATION			
Br	oad St	treet 24" Water Main			
	-	eynoldsburg			
Bio	ds Rece	eived: February 28, 2007			
					ction Co., Inc.
D.C	τ.				me Road
Ref. No.	Item No.	Description	Quantity	Unit	hio 43065
110.	110.				110 13005
					Extension
1	801	24" Ductile Iron Water Pipe and Fittings, Class 54 With Poly-Wrap	9,518	L.F.	\$1,094,570.00
2	801	16" Ductile Iron Water Pipe and Fittings, Class 54 With Poly-Wrap	16	L.F.	\$1,120.00
3	801	Concrete Blocking Class C, Increase or Decrease	50	C.Y.	\$5,000.00
4	801	Fittings, Increase or Decrease	1,500	LBS.	\$7,500.00
5	802	24" Butterfly Valve and Appurtenances	7	EA.	\$43,400.00
6	806	42" Casing Pipe, Jack & Bored	295	L.F.	\$112,100.00
7	808	Cut and Plug (Cap) 6" Waterline	10	EA.	\$6,500.00
8	811	Increase or Decrease in Excavation and Backfill	300	C.Y.	\$12,000.00
9	812	1-1/2" Air Release Outlet	4	EA.	\$3,200.00
10	201	Clearing & Grubbing	1	L.S.	\$3,000.00
11	252	Permanent Pavement Replacement, Type I	144	S.Y.	\$7,200.00
12	252	Permanent Pavement Replacement, Type IIIA	528	S.Y.	\$26,400.00
13	252	Permanent Pavement Replacement, Type V	81	S.Y.	\$4,050.00
14	253	Temporary Pavement	167	S.Y.	\$5,010.00
15	452	Plain Portland Cement Concrete Pavement, 6" (Driveway)	80	S.Y.	\$4,000.00
16	608	Sidewalk Replacement	62	S.F.	\$930.00
17	608	Curb Ramp w/Detectable Warnings	1	EA.	\$1,800.00
18	610	Concrete Median Replacement	6	S.Y.	\$810.00
19	617	Compacted Aggregate, Type A - Shoulder Reconditioning	250	C.Y.	\$10,000.00
20	644	Edge Line	100	L.F.	\$200.00
21	Spec.	Mailbox Removal and Reset	5	EA.	\$900.00
22	207	Filter Fabric Fence	8,897	L.F.	\$13,345.50
23	207	Straw Bale Barrier	39	EA.	\$1,365.00
24	653	Topsoil Furnished and Placed	806	C.Y.	\$16,120.00

					ction Co., Inc.	
Ref.	Item	Item			me Road	
No.	No.	Description	Quantity	Unit	hio 43065	
					-	
					Extension	
25	659	Seeding and Mulching	9,672	S.Y.		72.00
26	660	Sodding	430	S.Y.		50.00
27	667	Seeding and Jute Matting	360	S.Y.		00.00
28	625	Ground Rod, As Per Plan	1	EA.		75.00
29	625	Conduit, 2", 725.05, As Per Plan	1,235	L.F.	\$6,17	75.00
30	625	Trench	1,235	L.F.	\$6,52	20.80
31	630	Removal of Ground Mounted Sign and Re-Erection	2	EA.	\$30	60.00
32	630	Removal of Span Mounted Sign and Re-Erection	8	EA.	\$1,44	40.00
33	630	Removal of Overhead Sign Support and delivered to COC	1	EA.	\$70	00.00
34	630	Removal of Overhead Sign Support and Re-Erection	2	EA.	\$2,00	00.00
35	630	Span Wire Sign Support Foundation	2	EA.	\$5,000.	
36	630	Detector Loop, As Per Plan	16	EA.	\$19,200	
37	632	Messenger Wire, 7 Strand, 3/8" Diameter with Accessories	195	L.F.	\$2,92	25.00
38	632	Loop Detector Lead-In Cable, IMSA 50-2	3,433	L.F.	\$3,43	33.00
39	632	Pull Box, As Per Plan	9	EA.	\$4,50	00.00
40	632	Remove and Reuse of Pull Box	9	EA.	\$3,60	00.00
41	632	Microwave Unit, As Per Plan	4	EA.	\$8,00	00.00
42	614	Maintaining Traffic, As Per Plan	1	L.S.	\$11,00	00.00
43	614	Law Enforcement Officer with Patrol Car, As Per Plan	20	HRS.	\$1,10	00.00
44	614	Work Zone Impact Attenuator for 24" Wide Hazards, Bi-directional, As Per Plan	4	EA.	\$4,40	00.00
45	614	Work Zone Pavement Markings	0.03	MILE	\$7	75.00
46	622	Portable Concrete Barrier, 32"	1,300	L.F.	\$13,00	00.00
			BIDDER'S	TOTAL =	\$1,486,846.30	
		CORRECTED	\$1,486,846.30			
		Α	100.00%			
		* Denotes Correction in Bidder's Proposal				

Ref. No.	Item No.	Description	Quantity	Unit	ction Co., Inc. me Road hio 43065 Extension	
		Shane J. Spencer, P.E.				
		Evans, Mechwart, Hambleton & Tilton, Inc.				
		5500 New Albany Road				
		Columbus, OH 43054				